Combined Gas Law/STP conversions worksheet    Name _______________________

1.  73.0 mL of nitrogen at STP is heated to 80.0 °C and the volume increase to 4.53 L. What is the new pressure?

2. At a pressure of 780.0 mm Hg and 24.2 °C, a gas has a volume of 350.0 mL. What will the volume of this gas be at STP?

3. A sample of gas occupies 50.0 L at 15.0 °C and 640.0 mm Hg pressure. What is the volume at STP?

4.  How many liters would a 20 liter sample of gas at STP occupy if the pressure was changed to 20 atmospheres and the temperature was changed to 38oC?

5.  A sample of hydrogen gas has a volume of 145 mL when measured at 44 degrees C and 1.47 atm.  What volume would the hydrogen sample occupy at STP?
6.  A particular balloon is designed by its manufacturer to be inflated to a volume of no more than 2.5 L.  If the balloon is filled with 2.0 L of He at sea level, is released, and rises to an altitude at which the atmospheric pressure is only 500 mm Hg, will the balloon burst?  
